
 

 3و  2سؤالات تكميلي درس  سهفصل  4كاربرگ 

 دست آوريد. هاي زير را به حاصل عبارت -1

)  4 41 3 25 2 81 3 625  

 

) 42 54 9  

 

)   4 43 10 19 10 19  

 

)   3 34 17 9 17 9  

 

) a b a b  
6 62 4 4 25  

 

)  36 3 5 2 2  

 

)7 128  

)8 256  

)
5 4 3 609 3  

) 410 3 2  

 

)  311 15 5  

 

)
6 20112 7  

) 3 413 5 5  

) 4 314 5 5  

) 6 3 315 7 14  

) ( ) 16 1 2 3 2 2  

 



 

) ( x x )
5 15317  

)  7 14 2118 13 5 15 25 3 125  

 

) ( ) ( )  2 219 6 5 6 5  

 

) ( a b c )
7 4 3 2 320  

(x ) (x )
)

(x )
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

2 2 2 23 3

2 73

4 4
21

4
 

 

a)معادلات زير را حل كنيد.  -2 , x ) 0 0 

) a 21 2  

 

) x  3 12 752 2  

 

x) 3 8 2 2  

 

) x 34 3  

 

) x x x 
3 32 65 3  

 

x)  36 2 16  


